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МеDы пDедоEтоDож=оEт< пD< уEт4=о6ке 
 

1. ПD86од  дол6е= уEт4=46л864тLEO Eоот6етEт6уNI8<8 EпеF84л8Eт4<8 8л8 о5уGе==K< 

пеDEо=4ло<. Не D4758D49те пD86од, Gто5K 875е64тL по6Dе6де=8O 8 дDу78E =еEG4Eт=KE 
EлуG4е6.  

2. ПеDед D475оDко9 46то<о58лO 6K дол6=K E=4G4л4 утоG=8тL у 6л4делLF4 46то<о58лO, 
5Kл4 л8 87<е=е=4 8л8 отDе<о=т8Dо64=4 74д=OO д6еDL 46то<о58лO. &4к 6е =ео5Eод8<о 

пDо6еD8тL, =ет л8 =4 п4=ел8 46то<о58лO ото5D46е=8е код4 =е8EпD46=оEт8. ПDо6еDLте 

пD468лL=оEтL D45отK 5лок8D4тоD4 д6еD8, 6KклNG4телO лNк4 8 к=опок д8Eт4=F8о==о7о 

клNG4. �4те< пDо6еDLте, =ет л8 F4D4п8= =4 6=утDе==е9 8 6=еH=е9 по6еDE=оEт8 46то<о58лO, 
4 т4к6е D47<еD 8 6KEоту 747оD4 ле6о9 8 пD46о9 EтоDо= д6еD8 54746=8к4 (6Eе Mт8 пDо6еDк8 

оGе=L 646=K длO ED46=е=8O MлектD8GеEко9 д6еD8 54746=8к4 поEле уEт4=о6к8 8 до 

уEт4=о6к8). �Eл8 о5=4Dу68л8 к4к8е-л85о пDо5ле<K, кл8е=тK дол6=K 5KтL E6ое6Dе<е==о 
у6едо<ле=K. 

3. Следует у5ед8тLEO, Gто 4кку<улOтоD 46то<о58лO 8<еет доEт4тоG=уN <оI=оEтL. �Eл8 

<оI=оEт8 =едоEт4тоG=о, =ео5Eод8<о 74DOд8тL 8л8 74пуEт8тL д6874телL =4 =екотоDое 6Dе<O, 
Gто5K у5ед8тLEO, Gто уEт4=о6ле==4O MлектD8GеEк4O 74д=OO д6еDL <о6ет =оD<4лL=о D45от4тL.  

4. Во 875е64=8е по6Dе6де=89 8 F4D4п8= 46то<о58лL=KE E8де=89 8л8 6=утDе==е9 8 

6=еH=е9 о5H86к8 пD8 D475оDке 8 E5оDке, уEт4=о6I8к дол6е= у5D4тL <ет4лл8GеEк8е 
пDед<етK 8 дDу78е т6еDдKе пDед<етK Eо E6ое9 оде6дK.  

5. В пDоFеEEе уEт4=о6к8 <о6=о 8EполL7о64тL <4лOD=уN ле=ту 8л8 полоте=F4 длO 74I8тK 
о5л4Eт8 46то<о58лO, E котоDо9 D45от4ет уEт4=о6I8к, Gто5K =е поF4D4п4тL 6=утDе==8е 8 

6=еH=8е G4Eт8 46то<о58лO.  

6. ПD8 уEт4=о6ке кDо=Hте9=4 ку7о64 74<е=8те оD878=4лL=Kе 46то<о58лL=Kе 68=тK =4 

68=тK E плоEко9 7оло6ко9, пDедоEт46ле==Kе 6 =4Hе< ко<плекте, 6 пDот86=о< EлуG4е 74д=OO 

д6еDL =е 74кDоетEO дол6=K< о5D47о< 8л8 Eто9к4 уп4дет (подDо5=оEт8 E<. 6 пDоFеEEе 

уEт4=о6к8).  

7. ПоEле то7о, к4к Eто9к4 уEт4=о6ле=4 =4 46то<о58лL=о9 H4Dо6о9 опоDе, о5D4т8те  

6=8<4=8е =4 то, Gто5K пDу68=4 =4 H4Dо6о9 7оло6ке 5Kл4 плот=о пD864т4, 8=4Gе Mто 

пD86едет к п4де=8N Eто9к8 (луGHе 6Eе7о пD8ло68тL =е5олLHое уE8л8е, Gто5K пDо6еD8тL 
=4де6=оEтL кDепле=8O Eто9к8). �Eл8 о=4 оEл45ле=4, Mто о7=4G4ет, Gто EтопоD=ое колLFо =е 
6Eт4ло =4 <еEто.  

8. �лO полуGе=8O MлектDоM=еD788, о5O74телL=о 5еD8те MлектD8GеEт6о от E8лL=отоG=о7о 

пDедоED4=8телO, 6 5локе пDедоED4=8теле9 B+. �47е<ле=8е дол6=о 5KтL EоDоHо 74кDепле=о 
8 8<етL EоDоH89 ко=т4кт (по64лу9Eт4, де9Eт6у9те 6 Eоот6етEт688 E =4Hе9 пDоFедуDо9 
уEт4=о6к8). 

9. ПD8 E6еDле=88 от6еDEт89 длO Eоед8=8телL=KE пDо6одо6 Eтоек, о5O74телL=о от<етLте 

по78F88 6 Eоот6етEт688 E Dеко<е=д4F8O<8 по E6еDле=8N, 8 6 то 6е 6Dе<O д6еDL дол6=4 

5KтL пD468лL=о опуIе=4, Gто5K у5ед8тLEO, Gто E6еDло пеDпе=д8кулOD=о E6еDле=8N. �=4Gе 

Mто <о6ет пD86еEт8 к откло=е=8N E6еDл4 6 пDоFеEEе E6еDле=8O, 8 7о=4 6окDу7 от6еDEт8O 
5удет =4DуHе=4.  

10. Не подклNG49те 8 =е отклNG49те подклNGе==Kе пDо6од4 6о 6клNGе==о< EоEтоO=88, 
Gто5K =е по6Dед8тL <одулL 8л8 дDу78е 4кEеEEу4DK пD8 подклNGе=88 8 отклNGе=88. 

11. Ко<п4=8O =е =еEет от6етEт6е==оEтL 74 пD8G8=е==K9 уIеD5 6о 6Dе<O уEт4=о6к8 8 
MкEплу4т4F88 о5оDудо64=8O. 



 



 

 

 

 

1. �4д=OO д6еDL 54746=8к4 

 

 
 

2. ОткDут8те DуGку =4 74д=е9 д6еD8 8 D475еD8те 
декоD4т86=уN п4=елL 6 поDOдке 1/2/3/4, к4к пок474=о =4 
D8Eу=ке 

 

 



 

 

 
 

3. С=8<8те оD878=4лL=Kе Eто9к8 д6еD8 54746=8к4, 8 
74<е=8те Hт4т=Kе H4Dо6Kе опоDK H4Dо6K<8 опоD4<8 87 
ко<плект4. 

 



 

 

 
 

4. С=8<8те декоD4т86=уN =4кл4дку 74д=е7о Dо=4DO, к4к 
пок474=о =4 D8Eу=ке 

 

 



 

 
 

5. С=8<8те оD878=4лL=K9 кDо=Hте9= д6еD8 54746=8к4 8 
74<е=8те е7о кDо=Hте9=о< 87 ко<плект4, Eле64 8 EпD464. 
�EполL7у9те 5олтK 87 ко<плект4. 

 

 

 

 



 

 

 
 

6. 'Eт4=о68те опоD=уN Eто9ку (L-ле6K9, R- пD46K9), о5D4т8те 
6=8<4=8е =4 пDу68==уN 74Iелку кDKHк8 H4Dо6о9 7оло6к8, 
котоD4O дол6=4 5KтL 74D8кE8Dо64=4 =4 <еEте, 8=4Gе Eто9к4 
уп4дет. ПDотO=8те к45елL к4к пок474=о =4 D8Eу=ке. 

 



 

 

 
 

7. 'Eт4=о68те декоD4т86=Kе кDKHк8 74д=8E Dо=4Dе9. 
 

 

 

8. С=8<8те оD878=4лL=K9 46то<о58лL=K9 74<ок, 74<е=8те 
е7о 74<ко< E до6одG8ко< 87 ко<плект4 8 подклNG8те 68лку  
оD878=4лL=о7о 74<к4 E по<оILN к45елO 4д4птеD4 E 74д=е9 
к=опко9, к4к пок474=о =4 D8Eу=ке. 



 

 

 
 

9. �4кDеп8те пDо6од к=опк8 д6еD8 54746=8к4 (D8олето6K9 
пDо6од) =4 GеD=о-E8=е< пDо6оде оD878=4лL=о7о 67ут4 
пDо6одо6 к=опк8 д6еD8 54746=8к4, к4к пок474=о =4 D8Eу=ке 

 



 

 
 

10. ПDоло68те «к45елL п8т4=8O», «к45елL пеDед=е9 
к=опк8» 8 «к45елL CAN» к ле6о9 EтоDо=е Dуле6о7о колеE4, к4к 
пок474=о =4 D8Eу=ке. 

 

ПD8<еG4=8е!  ПеDед=NN к=опку 87 ко<плект4 <о6=о =е 
уEт4=46л864тL, 8 к45елL к=опк8 =е пDотO7864тL. По 64Hе<у 
6ел4=8N.  
ОткDKтL 54746=8к <о6=о тDо9=K< =464т8е< Hт4т=о9 
к=опко9 D475лок8Dо6к8 д6еD8. �4кDKтL <о6=о тDо9=K< 
=464т8е< к=опк8 5лок8Dо6к8 д6еD8.  
 

 



 

 

 

 
 

11. Н49д8те 5лок пDедоED4=8теле9 46то под пD85оD=о9 
п4=елLN 8 6Eт46Lте к45елL п8т4=8O. О5D4т8те 6=8<4=8е =4 
=4пD46ле=8е MлектDопD85оD4, к4к пок474=о =4 D8Eу=ке 

 

  
 

12. Н49д8те оD878=4лL=K9 пDо6од 747е<ле=8O 46то<о58лO 
=4 ле6о9 EтоDо=е 54746=8к4, к4к пок474=о =4 D8Eу=ке. 
ПодклNG8те 747е<лONI89 пDо6од пD86од4 

 



 

 
 

13. Н49д8те оD878=4лL=K9 D47Jе< OBD 46то<о58лO под 
пD85оD=о9 п4=елLN, пD8кDеп8те =4Hу л8=8N CAN-L к 7еле=о- 

E8=е9 л8=88 OBD, 4 л8=8N CAN-H к 6елто-E8=е9 л8=88, к4к 
пок474=о =4 D8Eу=ке  

 



 

 

 
 

14. �4кDеп8те 5лок упD46ле=8O =4 кDо=Hте9=е 68=т4<8 8 
подклNG8те Eоед8=8телL=Kе пDо6од4, к4к пок474=о =4 
D8Eу=ке  
 

 
 

15. �4<е=8те DуGку д6еD8 =4 к=опку 87 ко<плект4 



 

Реко<е=д4ц<< по поEлеуEт4=о6оч=ы< <Eпыт4=<я<  

д6еDе= 5474ж=<к4 E электDопD<6одо< 

 

1. ПоEле уEт4=о6к8 пDо6еDLте, пD468лL=о л8 уEт4=о6ле=K 

уплот=8телL=4O ле=т4 8 декоD4т86=4O п4=елL д6еD8, Gто5K 

=е <еH4тL пD468лL=о<у 74кDKт8N д6еD8  

 

2. Н46<8те к=опку 74д=е9 д6еD8, Gто5K 74кDKтL 74д=NN 

д6еDL 6 пеD6K9 D47 длO 8=8F84л874F88 E8Eте<K, 4 74те< 

пDо6еDLте Dу=кF8N клNG4 д8Eт4=F8о==о7о упD46ле=8O / 

Dу=кF8N пеDед=е9 к=опк8 / Dу=кF8N п4<Oт8 6KEотK / 

Dу=кF8N 74I8тK от 74Iе<ле=8O.  
 

3. �лO упD46ле=8O 54746=8ко< E клNG4 46то<о58лO, 
=ео5Eод8<о дол7ое =464т8е =4 к=опку E 87о5D46е=8е< д6еD8 
54746=8к4. 
 

4. '5ед8теEL, Gто 74д=OO д6еDL пD468лL=о 8 плот=о 74кDKт4. 
 

 

ВKHеупо<O=утое EодеD64=8е 8 ко=D87уD4F8O <о7ут 5KтL 

87<е=е=K 5е7 пDед64D8телL=о7о у6едо<ле=8O, 8 пD46о =4 

око=G4телL=уN 8=теDпDет4F8N пD8=4дле68т ко<п4=88. 
 


